Chapter 15: Project Build-Method (FPM2ed p.186)
1.Project Build-Method

The following questions have been designed to test your knowledge of the chapter and prompt discussion. Please note that each question could have one or more correct answers.

15.1: Which two of the following describe a Project Build-Method? (FPM2ed p.186)
a. A project build-method explains how to make the project.
b. A project build-method is the same a Gantt chart.
c. A project build-method is the same as a network diagram.
d. A project build-method outlines the position of the equipment on site.
15.1 Answer: A and D are correct. B and C are incorrect.
15.2: Which two of the following are concerned with Project Logistics? (FPM2ed p.187)
a. The build-method’s logistics are concerned with the CEO’s company car.
b. The build-method’s logistics are concerned with the need to improve access to site.

c. The build-method’s logistics are concerned with the need to widen bridges to enable wide loads to access the site.
d. The build-method’s logistics are concerned with car parking at the head office.
15.2 Answer: B and C are correct. A is incorrect. D is incorrect as it does not include the head office, but it would consider the parking at the project’s site.
15.3: Which three of the following are concerned with Project Transport? (FPM2ed p.187)
a. The build-method’s transport is concerned with the earned value method.
b. The build-method’s transport is concerned with the number of abnormal loads.
c. The build-method’s transport is concerned with moving procured components to site.
d. The build-method’s transport is concerned with determining the largest modules that can be moved to site or offshore.
15.3 Answer: B, C and D are correct. A is incorrect.
15.4: Which two of the following are concerned with the Project’s Weather conditions?  (FPM2ed p.188)
a. The build-method’s weather conditions are concerned with the location of the project (Antarctic).
b. The build-method’s weather conditions are concerned with the CPM calculation.
c. The build-method’s weather conditions are concerned with climate change.
d. The build-method’s weather conditions are considered in the business case.
15.4 Answer: A and D are correct. B is incorrect. C is incorrect as the project is not concerned with climate change.
15.5: Which two of the following are concerned with Site Establishment? (FPM2ed p.189)?
a. Position of the crane.
b. Position of the materials – drop off and storage.
c. Position of the earned value calculation.
d. Position of the training courses at the head office.
15.5 Answer: A and B are correct. C and D are incorrect.
15.6: Which three of the following are concerned with Material Storage? (FPM2ed p.189)
a. Refrigeration is required for perishable goods.
b. The earned value technique is used to calculate the position of the storage.
c. Hermetically sealed boxes and rod ovens are required for welding rods.
d. Fireproof areas and rooms are required for chemicals and paints.
15.6 Answer: A, C and D are correct. B is incorrect.
15.7: Which three of the following are concerned with the Project’s Workforce?
 (FPM2ed p.189)
a. The project’s workforce is concerned with over crowding.
b. The project’s workforce is concerned with working below.
c. The project’s workforce is concerned with material storage.
d. The project’s workforce is concerned with opening up work faces.
15.7 Answer: A, B and D are correct. C is incorrect.
15.8: Which two of the following are concerned with Manufacturing Methods?
a. Permission to work.
b. Production line work.
c. Site security.
d. Corporate values.
15.8 Answer: A and B are correct. C and D are incorrect.
15.9: Which two of the following are concerned with Modular Manufacturing? (FPM2ed p.191)
a. Pre-Fabrication.
b. Permission to work.
c. Buy-or-make decision.
d. Transporting the modules to site.
15.9 Answer: A and D are correct. B and C are incorrect.
15.10: Which two of the following are concerned with the project becoming Boxed-In? (FPM2ed p.193)
a. Painting into a corner.
b. Access over completed work.
c. Make-or-buy decision.
d. Permission to work.
15.10 Answer: A and B are incorrect. C and D are incorrect.
